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[ ZlERONE | Bmas | 140A1022 | BT % \ A | PrfEth [ ERETHEAETE 3 HE]
, SERMOTIRICHET S TH aER A
ﬁg TREOBBOEILHIOKRES TREDOHBESSLADKRES TREOBBOSILEIDOKRES TREOHBESSLADKRES
R e | BT R | B2 | e | e | B2 | BT e | B2 | TR | & | e
’ 100kN/mM%E#BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —-| 100kN/mM%#8% % - -~ - —-|3mx#Z5 -~ - - -
s 1.00]0.00 ~ 6.81 86.11| =hLls |000 ~ 6.81| 1.76 9.41 s 1.00] 500 ~ 8.31 86.11| =nList | 500 ~ 8.31| 1.76 9.41
9 100kN/m##8 %% 1.00{0.00 ~ 240 137.57|3m%x#%%[0.00 ~ 0.05| 3.03 16.23| 100kN/m#%#BZ% 1.00] 11.74 ~ 22.37 137.57|3m%x# x5 20.00 ~ 22.37( 3.03 16.23
s 1.00]2.40 ~ 10.19 100.00f Z=h st | 0.05 ~ 10.19] 3.00 16.05 s 1.00] 500 ~ 11.74 100.00| =hList | 500 ~ 20.00| 3.00 16.05
3 100kN/mM##8 %% 1.00{0.00 ~ 3.36 153.94|3m%x#%%[0.00 ~ 0.46| 3.25 17.40| 100kN/m#%#B 2% 1.00] 10.61 ~ 30.25 153.94|3m%x# x5 25.00 ~ 30.25( 3.25 17.40
s 1.00/3.36 ~ 11.14 100.00f Zh st | 046 ~ 11.14] 3.00 16.05 s 1.00] 5.00 ~ 10.61 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
4 100kN/m##B % % 1.00{0.00 ~ 3.04 148.39| 3m%x % % -~ - - —| 100kN/mM%Z#BZ % 1.00] 10.60 ~ 29.69 148.39| 3m#%#BZ % -~ - - -
s 1.00] 3.04 ~ 10.83 100.00f Z=h st | 0.00 ~ 10.83] 2.97 15.89 s 1.00] 5.00 ~ 10.60 100.00| Z#hList | 500 ~ 29.69| 297 15.89
5 100kN/m##B %% 1.00{0.00 ~ 3.24 151.88|3m%x#%%(0.00 ~ 0.38| 3.22 17.24| 100kN/m#%#B 2% 1.00] 10.81 ~ 28.22 151.88|3m%x# x5 25.00 ~ 2822 3.22 17.24
s 1.00]3.24 ~ 11.03 100.00f Z=h st 1 0.38 ~ 11.03] 3.00 16.05 s 1.00] 5.00 ~ 10.81 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
6 100kN/m##8 %% 1.00{0.00 ~ 3.19 150.93|3m#*#%%[0.00 ~ 0.29| 3.16 16.93| 100kN/m#%#B 2% 1.00] 10.66 ~ 27.53 150.93|3m%x# x5 25.00 ~ 2753 3.16 16.93
s 1.00] 3.19 ~ 10.97 100.00f Z=h st 1 0.29 ~ 10.97| 3.00 16.05 s 1.00] 5.00 ~ 10.66 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMEBZD ~
Zh st ~ Fhst ~ ZFhst ~ ZzhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/ MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/mM%#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/M%#28 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~ |
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